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Step 1 : Channel 19 tof-le vs tof-tot
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Step 5 : Channel 9 tof-le vs tof-tot

0

1000

2000

3000

4000

5000

6000

7000

8000
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Step 5 : Channel 19 tof-le vs tof-tot
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Step 5 : Channel 20 tof-le vs tof-tot

0

1000

2000

3000

4000

5000

6000

7000

Step 5 : Channel 21 tof-le vs tof-tot

tof-tot [ns] 
10 15 20 25 30 35 40 45 50

to
f-

le
 [n

s]
 

5−
4−

3−
2−
1−

0

1

2

3

4

5
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Detector # 10 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

Detector # 11 Resolution Fit

 / ndf 2χ   1618 / 15

p0        0.0001± 0.1445 

 = 0.144510 [ns] σ

/DOF = 107.8465862χ

Detector # 11 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

Detector # 12 Resolution Fit

 / ndf 2χ  957.9 / 15

p0        0.0001± 0.1501 

 = 0.150096 [ns] σ

/DOF = 63.8607802χ

Detector # 12 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

Detector # 13 Resolution Fit

 / ndf 2χ  31.45 / 15
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Detector # 13 Resolution Fit
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Detector # 15 Resolution Fit
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Detector # 15 Resolution Fit
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Detector # 16 Resolution Fit
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Detector # 16 Resolution Fit
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Detector # 17 Resolution Fit
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Detector # 17 Resolution Fit
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Detector # 18 Resolution Fit
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Detector # 18 Resolution Fit
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Detector # 19 Resolution Fit
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Detector # 19 Resolution Fit
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Detector # 20 Resolution Fit
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p0        0.000± 0.127 
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Detector # 20 Resolution Fit
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Detector # 21 Resolution Fit
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 = 0.128461 [ns] σ
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Detector # 21 Resolution Fit
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Detector # 22 Resolution Fit
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Detector # 22 Resolution Fit
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Detector # 23 Resolution Fit

 / ndf 2χ   3884 / 16

p0        0.0001± 0.1264 

 = 0.126393 [ns] σ
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Detector # 23 Resolution Fit
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 / ndf 2χ   4799 / 16

p0        0.0001± 0.1354 

 = 0.135439 [ns] σ
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Detector # 24 Resolution Fit
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Detector # 25 Resolution Fit
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Detector # 25 Resolution Fit
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Detector # 26 Resolution Fit

 / ndf 2χ   5954 / 16

p0        0.000± 0.123 
 = 0.123030 [ns] σ

/DOF = 372.1357602χ

Detector # 26 Resolution Fit
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Detector # 27 Resolution Fit

 / ndf 2χ   4599 / 16

p0        0.0001± 0.1286 

 = 0.128563 [ns] σ

/DOF = 287.4178932χ

Detector # 27 Resolution Fit
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Detector # 28 Resolution Fit

 / ndf 2χ   3448 / 16

p0        0.0001± 0.1149 

 = 0.114918 [ns] σ

/DOF = 215.5288702χ

Detector # 28 Resolution Fit
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Detector # 29 Resolution Fit

 / ndf 2χ   1148 / 16
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/DOF = 71.7424312χ

Detector # 29 Resolution Fit
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Detector # 30 Resolution Fit

 / ndf 2χ    635 / 16

p0        0.0001± 0.1354 

 = 0.135421 [ns] σ
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Detector # 30 Resolution Fit
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Detector # 31 Resolution Fit

 / ndf 2χ  483.7 / 16

p0        0.0001± 0.1451 

 = 0.145076 [ns] σ

/DOF = 30.2331112χ

Detector # 31 Resolution Fit
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Detector # 32 Resolution Fit

 / ndf 2χ  95.22 / 16

p0        0.0001± 0.1664 

 = 0.166416 [ns] σ

/DOF = 5.9515132χ

Detector # 32 Resolution Fit
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Detector # 33 Resolution Fit

 / ndf 2χ  46.73 / 16

p0        0.0001± 0.1685 

 = 0.168473 [ns] σ

/DOF = 2.9209032χ

Detector # 33 Resolution Fit
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Detector # 34 Resolution Fit

 / ndf 2χ   1275 / 16

p0        0.0001± 0.1319 

 = 0.131932 [ns] σ

/DOF = 79.7059712χ

Detector # 34 Resolution Fit
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Detector # 35 Resolution Fit

 / ndf 2χ  789.1 / 16

p0        0.0001± 0.1437 

 = 0.143744 [ns] σ

/DOF = 49.3199872χ

Detector # 35 Resolution Fit
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Detector # 36 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 36 Resolution Fit
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Detector # 37 Resolution Fit

 / ndf 2χ  988.3 / 16

p0        0.0001± 0.1364 

 = 0.136430 [ns] σ

/DOF = 61.7680522χ

Detector # 37 Resolution Fit
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Channel 3 : Slewing Correction Channel 3 : Slewing Correction 
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Channel 4 : Slewing Correction Channel 4 : Slewing Correction 
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Channel 5 : Slewing Correction Channel 5 : Slewing Correction 
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Channel 6 : Slewing Correction Channel 6 : Slewing Correction 
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Channel 7 : Slewing Correction Channel 7 : Slewing Correction 
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Channel 8 : Slewing Correction Channel 8 : Slewing Correction 
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Channel 12 : Slewing Correction Channel 12 : Slewing Correction 
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